
第十章 被动语态习题（一） 

I. Choose the best answer from the four choices marked A,B,C and D. 

1.Einstein's work______ by the first world war. 

A.stop     B.stopped     C.was stopped     D.has stopped 

2.Two books______ at one time. 

A.are borrowed     B.borrowed     C.may be borrowed     D.be borrowed 

3.Three factories______ in the small town by the end of last year. 

A.have built     B.had built     C.have been built     D.had been built 

4.Several big modern power plants______ in our city next year. 

A.are built     B.had built     C.have been built     D.will be built 

5.He said that the old bike______ . 

A.will be changed           B.would be changed 

C.has been changed         D.would change 

6.Last time I went back to my hometown,a big power station______ there. 

A.was built     B.was being built     C.has built     D.had been built 

7.Mary seems______ very much by John. 

A.to like     B.to be liked     C.is liked     D.be liked 

8.Jane______ cry by the mouse. 

A.was to     B.was made     C.made     D.was made to 

9.This hotel______ by a famous architect. 

A.designed     B.has designed     C.was designed     D.designs 

10. The economic crisis______ first in the United States. 

 



A.broke out     B.was broken out     C.breaks out     D.is broken out 

II. Fill in each of the blanks with the proper form of the word given in the 

brackets. 

1. These books can______ （fìnd) on the third floor. 

2.The rooms______ （fill) by smoke. 

3.It______ （believe) that she had arrived. 

4.The room______ （clear) of all the waste by us. 

5.He______ （laugh at) by everybody. 

6.The matter must______ （look into) carefully. 

7.The meeting______ （put off). 

 


